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1626107

16261(C =

162610%

16261(C =

162610%

16261( =

162610%

16261C =

162610%

16261C =

162610%

16261(C =

162610%

16261(C =

162610%

16261( =

162610%

16261C =

1626107

16261(C =

-1626107

-1626106

-1626105

-1626104

-1626103

-1626102
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-1626100
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-1626098

-1626097

-1626096

-1626095

-1626094

-1626093

-1626092

-1626091

-1626090

-1626089

-1626088
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42

162610%

16261(C =

162610%

16261(C =

162610%

16261(C =

162610%

16261(C =

162610%

16261C =

162610%

16261(C =

162610%

16261(C =

162610%

16261C =

162610%

16261C =

162610%

16261C =

162610%

16261(C =

162610%

-1626087

-1626086

-1626085
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-1626083

-1626082

-1626081
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-1626076
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-1626074
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43

44

45
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50

16261C = -1626064

162610% -1626063

16261C = -1626062

162610% -1626061

16261C = -1626060

162610% -1626059

16261C = -1626058

162610% -1626057
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